Jo0odoooboooodoo-00d--0o0oooob PDF
J00o0oooooooooooonond
https://www.100test.com/kao_ti2020/128/2021 2022 E5 85 A8
E5 9B BD E8 81 8C E7 91 128054.htm 3200 O [J 3100 O Why
does a decrease in prices cause an increase in demand? A.Consumers
buy fewer goods when prices are low. B.Producers make fewer goods
when prices are low. C.Producers make more goods when prices are
high. D.Consumers buy more goods when prices are low. 3301 [

[J 3100 0O What do business firms look at when they make decisions
about price s and production? A.The supply curve. B.The demand
curve. C.The equilibrium point. D.All of the above. 3411 [ [ 3101
[ Why will consumers and producers agree on the equilibrium
price? A.It will help them both equally. B.It is the only price for the
goods. C.Itis the lowest price. D.All of the goods will be sold. 350

(1 0 3100 O When will producers have a surplus of goods? A.When
supply equals demand. B.When there is more supply than demand.
C.When there is more demand than supply. D.When they sell all of
their goods. 3700 [ [J 310 OJ According to the traditional
***nomists, the ***nomic d was the result of the problem
with supply and demand. 3801 [1 [1 3101 [ The traditional solution
to the ***nomic depression was to make both the p of
goods and workers’ wages lower. 3901 [J [0 3100 [0 According to
Keynes, the | of the quantity of goods will not result in the
decrease of price. 4001 [J [0 3100 I Keynes’ solution to ***nomic
depression is that g should play more part in ***nomy. A.seems
B.Happens C.Likes D./ 421 [0 4100 A.Pleasant B.exact




C.Satisfactory D./ 4301 [0 4101 A.Before B.at C.For D.during 4401
(14100 A.Stated B.put C.Offered D./ 4501 1 4101 A.Out B.through
C.Across D.along 4601 [1 4101 A.On B.In C.For D.forth 4701 [ 41
[ A.Halt B.decrease C.Withdraw D.overcome 4801 [1 411 A.In
B.Of C.For D.to 4900 [J 410 A.Objective B.Necessary C.Important
D./500 0 4100 A.By B.With C.Under D./ 5100 [ 4100 A.Awful
B.reluctant C.Advanced D./ 5200 [0 4100 A.About B.with C.Except
for D./ 530 0 4100 A.Because B.Since C.As D.Though 5401 1 41[]
A.AtB.To C.In D.for 5500 10 410 A.In B.On C.Around D.across 56
[0 0410 A.Find B.invent C.Use D./ 570 I 4100 A.Surgery
B.emergency C.Temporary D./ 5801 [ 411 A.Out B.up C.Down
D.back 5900 [J 4100 A.Approve B.approve of C.Carry out D./ 6001
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